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Q.1: cuwlil J> Mark(s): 5/5

Solve the proportion. cowalil) s
42 6 42 6
28 n 28 n

a n=4

b m=7

“cm=2



Q.2: polo pyiiual jlgell asiiuell dslno

Write an equation in slope-intercept
form for the line that passes through
(1,—5) and is parallel to the graph of
y=3x—-1.

Learning Outcomes Covered

MAT.2.02.08.007

i) Jadlt &hﬁ.n.l[g Jaal) davay dlalae 3S)
Al B gl 5 (1, —5) Ll yu
y=3x—-1 Jix (_“53.“

Mark(s): 5/5



Q.3: Slghal $rasie SMlwall J> Mark(s): 5/5

Solve the equation JAdalead) JA
k 7 =-12 k 7=-12
4 4

Learning Outcomes Covered

MAT.2.02.07.017
a. k=20
b. k=-76



Q.4: ***** BONUS ***** dyLu=]l ddlitel! Mark(s): 4/4

Find the next three terms of the JAuloeat) Aflialt A0 ASHAY agasl) as
arithmetic sequence: -1,3,7,11, ...
-1,3,7,11, ...
Learning Outcomes Covered
MAT.2.02.07.035
MAT.2.02.07.037

o
[Sy
A
[Sy
Q0
o
w

b. 14,18,22, ..

< 19,23,27, ...

d- 15,18,21, ...



Q.5: Sllas)l i)y Mark(s): 5/5

Evaluate the expression S5a + (b? + 3) il Ao aagl
5a + (b? =+ 3) a=2b=-3 i<y

fa=2b=-3.

Learning Outcomes Covered

MAT.2.02.07.004



Q.6: dilballdagdll yulei dosd Mark(s): 5/5

Evaluate |m — 3|+ 10ifm =—5. .m =—5K13|m— 3|+ 10 4ad 2a

Learning Outcomes Covered

MAT.2.02.07.021



Q.7: ) )exall 2o paiiiunall gb AT Mark(s): 5/5

Find the x — intercept and X A ) gaall pa CuadalEl) angf
y — intercept of the line graphed. il Jieal) auiiall y el gaally
Y
S\ 1 ]
y=3x+3
T /o X
a - A - F
Learning Outcomes Covered
MAT.2.02.07.024
MAT.2.02.07.027
MAT.2.02.07.031

b3 X jsnagephlilly 3 8 Y sae g gl

y —intercept is 3, x — intercept is 3.

© .3 A X ssaa g philiilly (0 8 Y saa e gl

y —intercept is 0, x — intercept is 3.

y-intercept is 3, x — intercept is 0.



Q.8: ***** PONUS***** djliiall J> Mark(s): 4/4

Solve the inequality. Aulial) Ja
9(3c+2) <45c 9(3c+2) <45¢c

Learning Outcomes Covered

MAT.2.02.09.008
ar 1<c i
b. 1>c¢
¢« —1<c



Q.9: Il a0 Mark(s): 5/5

Thefunctionw:SO—En wojg."udi.«:w=50—§nhmi
represents the weight w in pounds chaual) Juags duds B (3 5l Ja YL
of the papers in Bilal’s newspaper daall fpa Mol dluagh e D daldl)
delivery bag after he delivers n AL sdgl jhall as

newspapers. Find the zero of this
function.

Learning Outcomes Covered

MAT.2.02.07.034
aa N = —50
i 2
n=-—
5
ol m=125 :



Q.10: 1200 Y dslsell Jo

Solve the equation

10x —y =xz — 13 forx.

Learning Outcomes Covered

MAT.2.02.07.024
MAT.2.02.07.027

Adalaal) Ja
X N 10x—y=xz—-13

Mark(s): 5/5




Q.11: Ssleal 4US

Translate the sentence into a
formula.

The area of a triangle equals the
product of % the length base b and
the height h.

Learning Outcomes Covered

MAT.2.02.07.013

lsles ) Alaall Jn
b 5l Jgh cpia C—"-‘% A caliall dalias
.h &'-53)'2!95

Mark(s): 5/5



Q12: sl duuu

Learning Outcomes Covered {»

Determine whether the percent of
change is a percent of increase or a
percent of decrease. Then find the
percent of change.

original: 7.8

new: 10.6

Aol o Blhe i) duwd cuil€ 1)) La ada

ay b a8l dygle A af wliill dygia

At dygiall ol
7.8:9.\;4‘1’1

10.6 :uaal)

Mark(s): 5/5

4

o MAT.2.02.07.024
o MAT.2.02.07.025

26.4% slud w55 duid

percent of increase is 26.4%

35.9% wsbeds Ll dend

percent of increase is 35.9%

23.4% (g5l bl ducs
percent of decrease is 23.4%

35.9% wslud (a8l A

percent of decrease is 35.9%



Q.13 *hkxx BONUS ***** gJ|3J] jsi Jase Mark(s): 4/4

Find the rate of change for the 2 Aliaal) baal) dfjall et} Jaea g
linear function represented in the .Jgast)
table.

1 2

4 6

7 10

10 14

<

Learning Outcomes Covered F

o MAT.2.02.07.035




Q.14: daiig Jros doleo Mark(s): 5/5

Write an equation in point-slope S paiisall Jaally ddoiil) disuay dlalea is)
form for the line that passes . 2 dlag (4, —3) dhadill ja

through (4, —3) with a slope of 2 .




Q.15: ghiollg Jroll puiiuwe ddlee Mark(s): 5/5

Write an equation of a line in slope- phaially Juall davas andiie dlalaa i)
intercept form with a slope of —3 and Y ol jsaal) G ahaiddly —3 4l
y-intercept of 2. - 2 Gl

‘ Learning Outcomes Covered }[L

o MAT.2.02.08.001




Q.16: ulsilly Olysioll Mark(s): 5/5

Write an algebraic expression for c B Tl Ujas o' (3)
the verbal expression. A1 eBlpusi j

J squared minus 11

‘ Learning Outcomes Covered }%

o MAT.2.02.07.002




Q.17: dilbuell doyd)l diylio

Solve the inequality
|-3r—2| <10

|-3r—2| < 10

Zited) &

Mark(s): 5/5

Learning Outcomes Covered }}

o MAT.2.02.09.012




Q.18: g jgill dpols Mark(s): 5/5

Rewrite the expression using the comeil) LGS Baley agil) duald aadic)
Distributive Property. —4(7x +2)
—4(7x+2)

‘ Learning Outcomes Covered MT

o MAT.2.02.07.008

{ —28x—8 Q!




Q.19: &Syall digliiall Mark(s): 5/5

What is the solution set of the Al s degena A L
Inequality. -8<x+3<5

—-8<x+3<5

‘ Learning Outcomes Covered ‘lN

o MAT.2.02.09.009

P -11<x<2 Q'




Q.20: ***** BONUS ***** 19l duui Jilwo J>

A limo costs AED 90 to rent for 3
hours plus a 59, sales tax. What is
the total cost to rent a limo for 6

hours?

Learning Outcomes Covered “»

3. AED 90 dabid) 3l ,al cals,
ol dupa 5% Y BLaL clelu 3

Cilagaal)
Baal Aaliws Byl palil Adlaay) daicyl) Lo
telely 6

Mark(s): 4/4

o MAT.2.02.07.024
o MAT.2.02.07.026

AED 180

b.




Q.21: 5aslgll Bghll SVslse Jo

Solve the equation.

1_2,
4”3

‘ Learning Outcomes Covered ;'r

Mark(s): 5/5

Al A
1 Zb
4”3

o MAT.2.02.07.016




Q.22: uibidiy jlo pubiue ddlee Mark(s): 5/5

Find the equation of the line that (Ol Jlal) pulcal) Adslas 22

2,—-4),(-2,3
passes through the pair of points. ( ) ( )

) (2: _4)! (_2' 3)

‘ Learning Outcomes Covered }1[

o MAT.2.02.08.004




Q.23: A jo) 8)g:0 w oo Mark(s): 5/5

Write an equation in function A8 ll ANy ey Bygea O ddalae LK) A

notation for relation.

ty

L

‘ Learning Outcomes Covered “T

o MAT.2.02.07.035
o MAT.2.02.07.041




Q.24: $opbll psill Mark(s): 5/5

A hot-air balloon’s height varies alaiall dgnia (e ga Loyl slaial) g5ty .
directly as the balloon’s ascent time ) d ALl Bajh 1as i) L gilBalL
in minutes. bama A d ddluall Ugsh )il (39 lbaea
Write a direct variation for the TG 93 Alaiall

distance d ascended in time ¢.

700 ft.

SI‘I'III'.h

Learning Outcomes Covered F

o MAT.2.02.07.035
o MAT.2.02.07.037




Q.25; ***** BONUS **#*%* Gyb JS (é pustie e Sgixd il W¥leall J> Mark(s): 4/4

Find the value of x so that the el (b JICE 098 LS X dagh >
figures have the same perimeters.
16
X-5
5 10 x - 10
X-4

‘ Learning Outcomes Covered “T

o MAT.2.02.07.019




